ST-13 RRBPO (PRE) 2020

Passage for Question 1, 2, 3, 4, 5 (ST-13RRBPOPRE(1-5R)2020)
eng Passage

Read the following information carefully and answer the question given below.

Jacky, Ronit, Chiya, Dicky, Chris, Ronil, Paul and Mac are sitting in a straight line equidistant from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north. (Note: Facing the same direction means, if one is facing north then the other also faces north and vice-versa. Facing the
opposite directions means, if one is facing north then the other faces south and vice-versa).

Both Paul and Chiya face the opposite direction of Mac. Dicky faces the same direction as Chris. Ronit sits third to the left of Jacky. Only one person sits between
Ronit and Ronil. Ronil sits to the immediate right of Chris. Only one person sits between Chris and Mac. Both the immediate neighbors of Ronit face the same
direction. Jacky faces north. Only two people sit to the right of Jacky. Chiya sits third to the left of Ronil. Ronit faces the opposite direction as Jacky. Paul does not
sit at any of the extremes ends of the line.

hi Passage
frafafaa srastd &1 eamgd® ag stTi= 33 13 vy FTSTCAR

S, e, e, =T, e, T, ofe sfie 9 U g8 & UF a9 UF Sy Y@ § 95 ¢ (AT I6T FH | STl aah)| S0 7 Feg 18707 T T
e T § STat @ 3T A7 AT 21 (e UF gf form &7 o1 g, Tfe uah 39 A7 e @ 36 € 7 gt oft 3o oy e g 6 € ofre zaa faodian
oo ferorratt &7 o1 §, Ffe U I AT oMY 7@ o g a1 gavT ateror 7 e g o € oY =0 fAda g)

aier i< o St & o i e § T 81 Bf, re Y g fem & Terar 81 TfFa, S % arft s S s aw 81 AR s affer F e
FAA T ATH ST g1 UTAA T3 o ThTA JTIRA 3T F3T 21 TFer 37T A o 1o dhaer Uah i<k 9371 g1 T & a1 Hoheadt TSl U gf [39rT T Jraar
FEA S| AT ITAL AT AT T@AT 1 FAe T AR aF AT % 2T 98 21 F=rar Tfver & arft e frew e aw 81 afva, S % o o #§ Sear g1 ot
tf<h o foreT o P o2 981 JoT |l

Q-1 How many persons in the given arrangement are facing North?
eng

01. More than 4 02. 4

03. 3 04. 2

05. None
Q-1 & ¢ FraeT § fhaw srfe s it e qE o gu §2
hi

01. 43 3rfaT 02. 4

03. 3 04. 2

05. =g =gl
Solution for Question 1
eng

Dicky Mac Ronit Chris Ronil Jacky Paul Chiya
] ¢ & & & 0 ¢ & O
o, wr
B d+ AT hw Uf@e b gt R

Q-2 Four of the following five are alike in a certain way, and so form a group. Which of the following does not belong to the group?
eng

01. Dicky and Mac 02. Ronit and Ronil

03. Paul and Chiya 04. Jacky and Paul

0S. Chris and Jacky
Q-2 Frefafaa o= & ¥ =< us [fEa 78% & uF 59 2, o7 safon us ayg aara 8| Fetafad § & #919 a9g 9 946t8q 7gi 82

01. =t =iz &= 02. <A sz Tt



03. ufer 3T R 04. St &Y qier
05. ey ST SrfY

Solution for Question 2

eng

Q-3

eng

¢ ¢+ & & & & &

Dicky Mac Ronit Chris Ronil Jacky Paul Chiya

¢ & & 4 & & & 3
fBhr A+ Afaa g Ufae S aie fomr

What is the position of Ronil with respect to Mac?

01. Second to the left 02. Second to the right
03. Third to the left 04. Third to the right
0S. None of these

AF F gy | AT it F#47 Rafa g2

01. 9T FET 02. =@ THT

03. T FrrT 04. =70 FreT

05. =7 ¥ A0

Solution for Question 3

eng

¢ ¢+ & & & & &

Dicky Mac Ronit Chris Ronil Jacky Paul Chiya

¢ & & 4 & & & 3
fBhr A+ Afaa g Ufae S aie fomr

‘Who amongst the following sits exactly between Jacky and Chris?

01. Dicky 02. Ronil
03. Paul 04. Mac
05. Chris

FRrerferfera ® & #1 ST = o % dt= 9T 82

01. = 02. IfFer
03. T 04. &%
05. e

Solution for Question 4

eng

¢ ¢+ & & & & &

Dicky Mac Ronit Chris Ronil Jacky Paul Chiya

¢ & & 4 & & & 3
fBhr A+ Afaa g Ufae S aie fomr




Q-5 Who is sitting 2nd to the right of Dicky?
eng

01. Jacky 02. Ronil
03. Paul 04. Chris

05. None of the above
Q-5 2T % 310 <Y gET FA F27 82

01. St 02. Tf_er
03. qfer 04. e
05. IUTrh § H FIS TRl

Solution for Question 5

¢ ¢+ & 4 & & &

Dicky Mac Ronit Chris Ronil Jacky Paul Chiya

eng

¢4 & & 4 & & & O
Bhr A Afaa e e S ol f&ar

Passage for Question 6, 7, 8, 9, 10 (ST-13RRBPOPRE(6-10R)2020)
eng Passage

Study the following arrangement carefully and answer the given question below.
TE16F#L7UJ9Q2%B3DAMN$V4X@050K8*8GC

hi Passage

afafag AaeaT T LATLEF AT R A TAF FRTTT YT FTITLRN

TE16F#L7UJ9Q2%B3DAMNSV4X@O50K8*8GC

Q-6 How Many such vowels are there in the above arrangement each of which is immediately followed by a numeral and immediately preceded by a
eng consonant?

01. None 02. Two

03. One 04. Three

05. None of these
Q-6 SULIE HaeT § Fhae UF Taw 8 s & s F T 912 UF 3 i @ T8l U 2SI 3rar 82

hi

01. =< gl 02. =

03. U= 04. FF

05. =i F AT A
Solution for Question 6
eng TE16F#L7UJ9Q2%B3DAMNSV4X@O050K8*8GC
hi TE16F#L7UJ9Q2%B3DAMNSVAX@O050K8*8GC
Q-7 In the given series, half element from left are interchanged with second-half element from left to right, then which element will be 8th to the left of 20th
eng element from left end?

01. None 02. K

03. 8 04. ©

05.

Q-7 A IS AT §, AT T ST T T FHL A T F IT0 & Z0 TLETL FaA T2AT ST AT, FIe 87 T 970 B & 20 F Fe o6 F70 F 837 22

01. =7g =gl 02. K



03. 8 04. ©
0S.
Solution for Question 7
eng TEI6F#L7UJ9Q2%B3DAMNSV4X@O050K8*8GC

After interchange,
AMNSV4A4X@O50K8*8GCTELI6F#L7UJ9Q2%B3D

hi TE16F#L7UJ9Q2%B3DAMNSV4A4X@O50K8*8GC
TIAT F 91T,
AMNSV4A4X@O050K8*8GCTEI6F#L7UJ9Q2%B3D

Q-8 Four of the following five are alike in a certain way based on their positions in the above arrangement and so form a group. Which is the one that does not
eng belong to that group?

01. 9%3D 02. K*8
03. $4X 04. ©8*

05. ANV
Q-8 I AGEAT H 96 T=1 % e a7 FAuferfed ot § & = us @RS ol § s 9 € siT safore us 99 a9 81 98 #4971 8 SS9
hi T § Gated Agl g2

01. °%3D 02. K*8
03. $4X 04. ©8*
05. ANV

Q-9 If all the symbols are dropped from the above arrangement, which of the following will be the 7th to the left of 12th element from right end?

eng
01. % 02. 8
03. Q 04. ©
05. J

Q-9 Tt ST =aedT F Tuft wefient &7 ger faa sirar 8, ar Referfaa § g #i= ar a0 g a 12 3 9 & 910 F 737 g2

01. o 02. 8
03. Q 04. ©
05. J

Solution for Question 9

eng TE16FL7UJ9Q2B3DMNV4X0O5K88GC

hi TE16FL7UJ9Q2B3DMNV4X0O5K88GC

Q-10  What should come in place of the question mark (?) in the following series based on the above arrangement?
eng

FIBM X &?
01. 8 02. O
03. Q 04. ©

05. Cannot be determined
Q-10 SYUE HFTEAT & T I FAwfafa gaar & v 2w (2) F s o aararfyw
hi

FJBM X 8?
01. 8 02. O
03. Q 4. ©

05. fReifa 72t T S #shar

Passage for Question 11, 12, 13, 14, 15 (ST-13RRBPOPRE(11-15R)2020)
eng Passage

Study the following information and answer the question.

LI CERNT]

In a certain code language, "please to see you" is coded as "ry so ne di”, "read and write story” is coded as "fi na ke zo0”, "story framed to read” is coded as "di sp
ke zo” and "see you and write story” is coded as "ke ry fine na".




hi Passage
frafarfaa STasTd w1 aegga W AT fAaffaa rrwrIate:

s A2 e AT H, "please to see you™ FT “ry so ne di" F ¥ § Hrfed AT IAT % "read and write story" FT “fina ke zo" % &9 H Itz T T %
"story framed to read” T “di sp ke zo” % &7 H FIfed fFaT 79T F 37 "see you and write story” FT “ke ry fi ne na” % 9 § Hifeq forar mar 31

Q-11  How is “please” coded in the given code language?
eng

01. § 02. so
03. di 04. na

05. None of these
Q-11 & TE 5= WTuT & “please” FT e weTe Frfed o mam £2

hi
01. § 02. so
03. di 04. na
05. =% T IS Al

Solution for Question 11

eng please (ry)so @
read [and/write|[story] [ fi/nalfke] zo_
olfemeddwad  [@splele

B piease @so@
cod gy (ke
oalremeddead [@lselislzo
oo youngielae] [k fioons

Q-12  What does the code “fi” stand for in the given code language?
eng

01. read 02. to
03. write 04. and

05. Either 3 or 4
Q-12 & Tz AT H “f” F forw e AT 82

hi
01. read 02. to
03. write 04. and
05. ITar3 474

Solution for Question 12

eng please (ry)so @
read @nd /write] [stony] [ fi/nalfke] zo_
Coemeddmas  [@selislze
oo yoviengriefin]  [id/las s

B please (ry)so @
eod Gy [jnalfelze
[onlremedd ad  [asplkeleo




Q-13  How is “read” coded in the given code language?
eng

01. Sp 02. SO
03. di 04. 2

05. None of these
Q-13 & T F= WIUT # “read” 7 o wepme Frfee form mam £2

hi
01. sp 02. SO
03. di 04. 2
05. o7 A 7S T

Solution for Question 13

eng please (ry)so @
read [and/write|[story] [ fi/nalfke] zo_
olfemeddwad  [@splele

B piease @so@
cod gy (ke
oalremeddead [@lselislzo
oo youngielae] [k fioons

Q-14  If “write story” is coded as “na ke” then how will “and see you” be coded?
eng

01. spryne 02. nakeap
03. dinake 04. firyne

05. None of these
Q-14  =fT “write story” FT “na ke” F &9 § FHITSq AT AT & T “and see you” Tl T FHITSd (AT ATUIT?

01. spry ne 02. nake ap
03. dinake 04. fi ry ne
05. =H q FIS A51

Solution for Question 14

eng please (ry)so @
read @nd /write] [stony] [ fi/nalfke] zo_
Coemeddmas  [@selislze
oo yoviengriefin]  [id/las s

B please (ry)so @
eod Gy [jnalfelze
[onlremedd ad  [asplkeleo

Q-15 What does the code “sp” stand for in the given code language?
eng

01. framed 02. to
03. write 04. and

05. Either 3 or4
Q-15 & Tz AT F “sp” 3 Forw e FAT 2

01. framed 02. to



03. write 04. and
05. Jrar3 a4
Solution for Question 15

- please [toSee you) (ry)so @@E
read fand /write|[story] 1E‘,_;na E] zo_
framed [to] read spl ke |zo

oo your/wntefei] [ filoe s
B please [tofsee you (ry)so {n_e)@
read [and/write|[story] iil,_;na E o
[Sonlfemed(id ead  [dijspielzo

see youlerg/urtesoy]  [litlne na

Passage for Question 16, 17, 18, 19, 20 (ST-13RRBPOPRE(16-20R)2020)
eng Passage

Study the following information carefully and answer the questions given below it.

Eight doctor S, R, G, D, T, Y, K and H was appointed in a hospital in eight different months January, February, March, April, May, June, July and August but not
necessarily in the same order.

D was on appointed immediately after Y. Only two doctors were appointed between D and H.Y was appointed in April. Only three doctors were appointed
between R and T. R was appointed in one of the months before T. T was appointed immediately before K. H was appointed in one of the months having 31 days.
S was appointed in one of the months before G.

hi Passage

et STasTd # 1 sq\ga s AeqIT FL AT RUTTIT F137¢[N

M3 T(FT S, R, G, D, T, Y, K #I¥ H 315 -3 A IH1 AL, LA, 6T, A, T, A, [ATS S ST § U 08Il § I 6T T o7 Afshet
ST A2t o6 2w H R

D&Y & qIa a1 (43<h 63T =T 1| D 37T H F &1= et a1 Siaedl il [Hin 6l TS o471 Y &7 o1 § A 36am 2T om R ofi¥ T % 1= Faet qie
Tl FT (7w T3FaT 03T oM R 7 T 3 g Foreft 7gier § fAges o amam om T &7 K % g T e 3 smm om H 33 w72 | fAeges o smm o
S 31 37 290 S %1 G % wee et weie § fAges v mam =m)

Q-16 S was appointed in which month?
eng

01. January 02. March
03. April 04. July

05. None of these
Q-16 ST e weia & fAgew foarm ram =

01. SHa<t 02.
03. 3T 04.
05. =8 & F1E T

Solution for Question 16

!

eng January |5

February | R

March G

April \§

May D

lune T

uly K

August H




TFREEEEF

Q-17 ‘Who was appointed in August?

eng
01. D 02. H
03. R 04. G
05. K
Q-17 e & B g e e am?
hi
01. D 02. H
03. R 04. G
05. K
Solution for Question 17
eng January | S
February | R
March G
April ¥
May D
June T
July K
August H
hi sad | S
wrair R
AT G
E v o A
& D
T T
w K
T H

Q-18 Four of the following five are alike in a certain way and form a group. Who among the following does not belong to the group?

eng
01. S 02. H
03. R 04. G
05. K

Q-18 [Awfofad o= ® & 17 UF M aia & UF S 8 3T UF 99g a97d ¢ [Mafarad § 9 F19 948 T Ga6q Tal g2

01. s 02. H



03. R 04.
05. K
Solution for Question 18
eng January |5
February | R
March G
April ¥
May D
June T
luly K
August H
hi el | S
i  |R
AT o
e Y
Hﬁ D
=
e
g |
s | H
Q-19 How many persons were appointed before G?
eng
01. | 02. 2
03. 3 04. 4
05. 5
Q-19 G ¥ 9e fha+ = fAge o o o
hi
01. 1 02. 2
03. 3 04. 4
05. 5

Solution for Question 19

eng lanuary |5
February | R
March G
April ¥
May D
lune T
luly K
August H
hi seadt | S
wralr R
AT G
ter Y
wE D
EE_[ T
w K
o | H




Q-20 D was appointed in which month?
eng

01. January 02. May
03. April 04. July

05. None of these
Q-20 DI FE HEW # g BT T o

hi
01. Seerr 02. {2
03. =l 04. ST
05. gt e A
Solution for Question 20
eng January | S
February | R
March G
April ¥
May D
June T
July K
August H
hi steradl | S
——r
AT G
v o Y
w$ D
EC T
w K
I H

Passage for Question 21, 22, 23 (ST-13RRBPOPRE(21-23R)2020)
eng Passage

Study the following information carefully and answer the questions given below it.

A man walks 10m towards west to reach point P. He turns to his right and walks Sm to reach point R. Then, he turns to his left and walks 10m to reach point Q and
he turns to his right and walks 8m to reach point U. Finally he turns to his right and walks 20m to reach point T.

hi Passage

frafafag STaerd £ 1 sqmga T steggT F A= Ruararsrsac

U A<k f6g P % Ug= & forg qfer ¥ si¥ 10 Hex Forar g1 g i oY q=ar & o7 &g R % ug= & forw 5 e Ferar g1 9: 98 a7 AT q2ar g
317 fag Q T Tg= & oI 10 Hiex 9aT ¢ 3T ag a1 AT G2ar g oY f6g U aF Tg= & fory 8 e oar 81 oid § a1 317+ a7 oY {=aT 8 3T
&g T a% wg== & forw 20 Hiex F=ar g

Q-21  Whatis the distance between starting point and Q?
eng

01. 420m 02. V129m
03. 189m 04. \325m

05. None of these
Q-21 IREEEZsRQF =TT FTE?



01. 420 ¥ 02. 129 #t

03. 189 ¥ 04. 325 ¥
05. o7 A TS T
Solution for Question 21
eng
U 20 _T
8
10
al R
ﬂzﬁ 51
........... —w.
V202 ++52 =425 M
hi 0
u 2 ‘T
8
10
al R
vlzﬁ 51
----------- —TU. ]
V202 +4/52=a25P M

Q-22 If a man walked 7m towards south from point T to reach point V, then what is the distance between point V and man?
eng

01. 6 meters 02. 5 meters
03. 2 meters 04. 3 meters

05. None of these
Q-22 FfRuF s &g Vaw ag=q & foru &g T aferor i sie 7 9 =@, a1 &g vV siw =3t & &= it g #4782

01. ¢z 02. 5ffax
03. 2= 04. 3ffax
05. =% T FIS AT
Solution for Question 22
eng
U 20 _T
8
10
Qb— R
w'r-l-ﬁ 51—
___________ —TU.
V202 + 452 =425P M
hi
U 20 3T
8
10
Qb— R
V425 5}
----------- _TU. ]
V200 +4/52 =425 Mo

Q-23  The starting point is in which direction of the point R?
eng

01. North 02. Southeast
03. Northeast 04. Southwest



05. North
Q-23 wrifa g, g R & e fRar § o &2

hi
01. 39< 02. E‘F%‘UT‘F!Q
03. gFi<T 04. =feror-ufam
05. 39T

Solution for Question 23

eng 0
U 2 J
8
10
ak R
Va5 TSP
e ¢ 1
V202 ++/52=+125F M
hi 20
u =)
8
10
ak R
Va5 TSR
; M|y
------- - — ]
V202 ++/52=4/125P M

Passage for Question 24, 25, 26 (ST-13RRBPOPRE(24-26R)2020)
eng Passage

Read the given information carefully and answer the given question.

In a family of some persons, A is unmarried. V says that M is the daughter of my sister R, who is the only daughter of T. A is the son of T and L, who is the
grandmother of K. S is the only daughter of V and sister of K.

hi Passage

AT IAFTA FT 87T q 02 A RTAT TN HFTIACR:

T, AR % TRa #, A afaarzd g1 V F#1 Fgar 8 36 M, 3387 a9 R T 981 8, ST T 3T sahet ot a2t 81 A, T 3T LFT 92T &, ST K T §57av €1 S, VAT
THATAT 9eT g 37T K FT 929 2l

Q-24  How is A related to K?
eng

01. Maternal Uncle 02. Maternal Aunt
03. Paternal Uncle 04. Paternal Aunt

05. Cannot be determined

Q-24 A KFFHFaEfed g2

01. FevAd sFe 02. favae A
03. fevae s 04. Fevae e
05. fFerffea w2t foram ST HJaT &

Solution for Question 24

eng
+ =
T==L



If N is the spouse of R, how is L related to N?

01. Sister 02. Brother-in-law
03. Mother-in-law 04. Mother

05. None of these
7fa N, R & faanfea €, a1 L, N & & wafera 82

01. Tz 02. FeT-zq-A7
03. wgT-za-a1 04. wt
05,z & 7€ T

How is S related to T?

01. Granddaughter 02. Brother-in-law
03. Mother-in-law 04. Mother

05. None of these
S, T & # T&fara 82




01. JT=TeT 02. Fev-zA-AT

03. #gT-TA-Af 04. =7
05. =% F F1E T
Solution for Question 26
eng
+ =
Te—=L
- + +
R—¥—A
" - +
M S——K
hi
+ =
Te——sL
- + +
R—¥—A
- = +
M S——K
Q-27 Each consonant of the word ‘RESOURCES?’ is changed to the next letter in the English alphabetical series and each vowel is changed to the second next
eng letter in the English alphabetical series. Then which of the following will be the seventh letter from the left end?
01. s 02. D
03. G 04. U
05. O
Q-27 9158 ‘RESOURCES’ & Tei# ST &l S{UST AVHTAT G@AT 6 3 AAT § TG [T SITAT & ST THH T T SIS qUHTAT H@AT § THL 3T
hi FeAT § e T ST 81 a7 Ffererd & & 9 a1 @) F "radt 7 g
01. s 02. D
03. G 04. U
05. O

Solution for Question 27

B RESO

SGTQW S DGT

Passage for Question 28, 29, 30, 31, 32 (ST-13RRBPOPRE(28-32R)2020)
eng Passage

Study the following information carefully and answer the given question.

Six Question booklet- P, Q, C, X, Y, and Z are placed one above another, each containing a different number of questions— 10, 29, 36, 33, 44 and 50 (but not
necessarily in the same order) and Question booklet are of different subjects — Physics, Chemistry, Mathematics, English, Hindi, and Computer (but not necessarily
in the same order).




Question booklet Y has questions of Physics and is not adjacent to Question booklet Q, but placed one of the above Q. The Question booklet which is placed just
above X is of Hindi. Only three Question booklets are placed between P and X, which has an odd number of questions. Only one Question booklet is placed
between X and Q, which is of Chemistry. The Question booklet which is placed at the top has 17 questions more than X. Question booklet Z is not Hindi. The
question booklet which has the question of English has 36 questions. At least two Question booklets are placed below P, which has an odd number of questions.
Question booklet X has question of the subject which is not Computer and Question booklet C does not have 44 questions.

hi Passage

ot aTasTd &1 eamgd® segga L S fRrrr g FrIad:

T T IEaHT- P, Q, C, X, Y 3T Z &1 UF & U< U T@T AT &, o7 7 T & STT- 1T To01 7 FEAT 8- 10, 29, 36, 33, 44 3T 50 (AT ST A5t
T U g7 9 H) T woy qiedent fafes @i & g - difaenr, T8 f&em, aiom, i, BE oiT #oge7 (St saeas T8l (4 UF & %0 5 21

T AR Y H ATTART 6 T 8 o7 TF TRAFT Q F HHIT Al &, Al Q F 0¥ U T T T@T AT g| W Tt ST X F 31 S0% T 1% &, 98 2l
121 P =¥ X F Fi Faer e w57 qieaerrd Tt 12 2, forad from dear § wor €1 X T Q 3 i Faet uah wop qitast vt T €, Q, ST |+ A= i
g1 o7 et o offd o w@r AT 8, § X & 17 7o7 atferes g1 oy qieasr Z Bdr 981 81 o w1 qRasr § sRs #1907 8, SHH 36 ST gl PF A=A w9 7
FH I W [RETHTG T TS 3, o Ao wem ® vy g1 vy qeast X § 39 @30T #5797 § S Fg27 qgl @ ofiT o [Rawr C | 44 T 78l 8

Q-28 The question booklet of which subject has the least number of questions?
eng

01. Chemistry 02. Hindi
03. Mathematics 04. Computer

05. None of these
Q-28 o oo ot wor qfeaeT & 9a9 7 7 82

hi
01. =g+ 02. FEr
03. wforg 04. Frrzw
05. =% T FIS Al

Solution for Question 28

eng SUBJECT Question Mo. of

Booklet Questions

Physics Y 50
Computer | P L]
English ] 3%
Chemistry Q 44
hind C 10
math X 33

hi g | mea | oo wem

g

st Y | 50
H'W!{R' P 29
i z 36
o | @ E
A C 10
T ] |33

Q-29  Which of the following subject has questions not less than 40?
eng

01. Chemistry 02. Hindi
03. Mathematics 04. Computer

05. None of these
Q-29 fAwfated § 7 g oo 7 40 & w9 w7 781 52

hi
01. w\m™T 02. F&
03. fora 04. Fogex
05. =% T 1S TS

Solution for Question 29




eng SUBJECT Question No. of
Booklet Questions
Physics Y 50
Computer | P L)
English i 36
Chemistry Q 44
hindi C 10
math X 3
hi far T T FEm
e
st ¥ 50
Q'F‘?[H P 29
preers z 3
e e (1] 44
'[faf C 10
P ] 3

Q-30 Question booklet which has questions of Chemistry has how many questions?
eng

01. 44 02. 50
03. 33 04. 36

05. None of these
Q-30 ey qRaeT SEw e e F w1 8, A v 82

01. 44 02. 50
03. 33 04. 36
05. i & T
Solution for Question 30
eng SUBJECT Question No. of
Booklet Questions
Physics Y 50
Computer | P L)
English 1 3%
Chemistry Q 4
hindi C 10
math X 3
hi vz A e FEm
g
s ¥ 50
q':qir_; P 29
free z 36
e e | @ 44
o C 10
i ] 3

Q-31  Whatis the sum of the questions in question booklet P and Z?
eng

01. 44 02. 50
03. 60 04. 65

05. None of these
Q-31 w1 IRAHT P 3T Z H T T AN FA71 22

hi
01. 44 02. 50
03. 60 04. 65
05. =% T IS Al

Solution for Question 31

eng | SUBJECT

Question ‘I:nof _ |

. N e e L



DUUIRICL L=k 00 )
Physics Y 50
Computer | P iz
English i %
Chemistry Q 44
hindi C 10
math X 33
hi fawg T T FEW
i
Er ¥ 50
o P B
prrers 7 %
e e Q 44
[ < T3
biin x 33

Q-32  The question booklet of which subject has the maximum number of questions?
eng

01. Chemistry 02. Hindi
03. Mathematics 04. Computer

05. None of these
Q-32 T O it wor geaer § Faw oFfes w7 82

hi
01. I+ 02. Fr
03. wfr 04. Froqev
05. e 18

Solution for Question 32

eng SUBJECT Question No. of

Booklet Questions

Physics Y 50
Computer | P L)
English 1 %
Chemistry Q 44
hindi C 10
math X 3

hi fawg T T FEW

F ikl

s ¥ 50
q';.;{r_; P 29
prres z 36
e e (1] 44
'[fa C 10
b x 33

Passage for Question 33, 34, 35, 36 (ST-13RRBPOPRE(33-36R)2020)
eng Passage

In each question given below some statements are followed by some conclusions. You have to take the given statements to be true (even if they seem to be at
variance from the commonly known facts). Read the conclusions and decide which logically follows. Give answer-

hi Passage

T T T § F{ FAA ST 39 A8 R (AR (7 T §1 SIRT T T FAAT AT TF AAAT 8 (T F AT Aq J=47 & Forer 707 7 21| o 37y
TE ST TA FY FIF-HT AT T & FTTALOT FLAT g1 3L 2107 —

Q-33  Statement:

eng All4is 8.
Only a few 8 are7.
Some 7 are 5.



Conclusions:
1. Some 7 are 4.
II. Some 5 are 4.

01. BothIandII follow 02. Only] follows
03. Only II follows 04. Neither I nor II follow

05. None of these
EREH

i 4, 8 81

FIT 7S 2l 8, 78
FET,53
Ao

LES 7,43

IL %3 5, 4 81

01. =7 [ 3T 11 ATH F2d & 02. Fae [ AT FAT &
03. et 11 SATHTIT FLAT & 04. FATATTL M FLATE
05. Z7% A TS T2

Solution for Question 33

eng

Q-34

eng

Statement:
Allvois co.

Some vo are fi.
Some fi are al.
Conclusions:

I. No al is co.

I1. Some co are al.

01. BothIand II follow 02. Only I follows

03. Only II follows 04. Neither I nor II follow
05. None of these

ER DK

gt VO, CO %I

g vo, fi g

S fi, al B

e

L. F7E al, co I 2

II. % co, al %’I

01. FTET 13T 11 STE Fd & 02. FFel I SATHI FIAT &
03. et 1 STEY FaT & 04, TATISAT AL FATE
05. = T g TE

Solution for Question 34

eng

VO fi{])al



(R

Q-35  Statement:
eng All 201s 10.
Only a few 20 are 30.
All 30 are 40.
Conclusions:
I. Some 20 can never be 30.
I1. Some 40 can never be 20.

01. BothI and II follow
03. Only II follows
05. None of these

Q-35 =9

hi T+ 20, 10 F
FaT FZ 51 20 30 B
T+t 30, 40 3
Aoy

L % 20 T ¥ 30 7T ET T 2
1L %3 40 FHT T 20 T 7 T 21

01. FET I 3T 11 STEYT Fd 5
03. et 1 STEY FaT &
05. =% F FIS T&I

Solution for Question 35

eng

hi

Q-36  Statement:

eng Some de are gs.
Only a few hj are gs.
Some hj are kk.
Conclusions:
I. Some kk can be gs.
I1. Some hj cannot be de.

01. BothI and II follow
03. Only II follows

02. Only I follows
04. Neither I nor II follow

02. et [ ST FAT &
04, TATISHT TSI FZATE

02. Only I follows
04. Neither I nor II follow



05. None of these

Q-36 =g

hi H de gs 2l
FAT FZ Bl hj gs Bl
S hj kk g
Ao

I %= kk gsﬁmgl
IL % hj de 7T &1 95 2l

01. I+ [ 3T 11 STHT F3d & 02. Fae [ ST FAT
03. aef I STEY FaT 8 04, FATIHTAST I FAaTS
05. =% T FIS AT

Solution for Question 36

eng

hi

Passage for Question 37, 38, 39, 40 (ST-13RRBPOPRE(37-40R)2020)
eng Passage

In these questions, relationship between different elements is shown in the statement. The statements are followed by two conclusions. Choose the correct Answer
given below:

hi Passage
T WAL H, FAFT H AT qedt & A= daer 39T T g1 FAATEF 918 &7 Ay 3w rw ) S T @ 9@ 39w 141

Q-37  Statements:

eng Q>R,G< E<K,G<K,Q<E, K<Y
Conclusions:
LY >R
ILG<Y

01. Only conclusion II true. 02. Only conclusion I true.
03. Both conclusions I and II true. 04. Neither conclusion I nor conclusion II true.

05. Either conclusion I or conclusion II true.
Q-37 =9
hi Q>R,G< E<K,G<K,Q<E,K<Y
Ao
LY>R
ILG<Y

01. Fae Ao 11 97 B 02. Fa ehT [ 97 Bl
03. fswe [ 3 11 T4T 7T 2 04. 7q7 fAerd 13T 7 27 Aoy 11 77 31
05. =7 7 fAewe [ 37 A 11 e )

Solution for Question 37

eng 1. Y>R (TRUE)
IL. G < Y (TRUE)
hi LY >R (FeT)

IL G <Y (q27)



Q-38  Statements:

eng A<K<B, T>K<D,B>C>F
Conclusions:
ILD>A
ILF<T

01. Only conclusion II true. 02. Only conclusion I true.
03. Both conclusions I and 1T true. 04. Neither conclusion I nor conclusion II true.

05. Either conclusion I or conclusion II true.
Q-38  Fuw:
hi A<K<B, T>K<D,B>C>F
Ao
ILD>A
ILF<T

01. Faer FAeFT 11 97 B 02. Faer R [ 9T Bl
03. foRT [ 3f 11 ST e 2 04. 77 Aoy [ 37 7 T fAead 197 2
05. =7 7 e [ a7 fAwh 11 7o )

Solution for Question 38

eng I.D>A (TRUE)
II. F < T (FALSE)
hi LD>A (@)
1. F<T (37/8cY)

Q-39 Statements:

eng J<G<D<K=C<F>R>S
Conclusions:
LLD>S
II.D<S

01. Only conclusion I true. 02. Only conclusion I true.
03. Both conclusions I and II true. 04. Neither conclusion I nor conclusion II true.

05. Either conclusion I or conclusion II true.
Q-39 =AM
hi J<G<D<K=C<F>R=>S

IRLED

I.D>S

I.D<S

01. Faer fAeh 11 77 21 02. Faer et [ 97 81
03. e [ 377 11 31 97 . 04. 7 q7 e [ 37 7 &1 e 1197 2
05. 77 ar e [ 37 e 11 97 g

Solution for Question 39

eng I.LD>=S

II.D<S
Either conclusion I or conclusion II true.

hi ILD=S

I.D<S
7T a1 AR [ 97 Ao 1 57 g

Q-40  Statements:

eng W<K<C, W>V>D, L=K
Conclusions:
LL>V
ILW<L

01. Only conclusion II true. 02. Only conclusion I true.
03. Both conclusions I and II true. 04. Neither conclusion I nor conclusion II true.

05. Either conclusion I or conclusion II true.



Q-40 =Y

hi W<K<C, W>V’D, L=K
Ao
LL>V
ILW<L

01. Fae e [ 97 2. 02. Fae eFT [ 97 Bl
03. fswe [ 3 11 ST 7T 2 04. a7 fAerd 13T 7 27 Aoy 1197 3
05. =7 a1 fAewy 131 e 1197 8

Solution for Question 40

eng I.L > (FALSE)
ILW <L (TRUE)
hi I.L>(E)
LW <L (&)
Q-41 In each of the following questions, two equations are given. You have to solve them and
eng
(D) x*+41x+418=0 (1) y2+36y+323=0
01. Ifx>y 02. Ifx>y
03. Ifx<y 04. Ifx<y

05. Ifx=y or relationship can not be established
Q-41  wforfad et ® &1 ator (1) i (1) &7 1 € a1 g6 g fife =ie-
hi

(1) x*41x+418=0 (1) y>+36y+323=0

01. qﬁx>y 02. I[ﬁxzy
03. qﬁx<y 04. Z[ﬁxfy
05. a1t x=y AT T T Tl AT ST

TRAT Bl

Solution for Question 41

eng (1) x2+41x+418=0
X2 +x(22+19)+418=0
X2 +22x+19x+418=0
X(x+22)+19(x+22)=0
(x+22)(x+19)=0
x=-22,x=-19
(D) y? +36y +323 =0
y2 +y(19+17)+323=0
y2+19y+17y+323=0
y(y+19)+17(y+19)=0
(y+19)(y+17)=0
y=-19, y=-17
Xfy

hi (1) x%+41x+418=0
X2 +x(22+19)+418=0
X2 +22x+19x+418=0
X(x+22)+19(x+22)=0
(x+22)(x+19)=0
x=-22,x=-19
D) y? +36 y +323 =0
y2 +y(19+17)+323=0
y2+19y+17y+323=0
y(y+19)+17(y+19)=0
(y+19)(y+17)=0
y=-19, y=-17
Xfy

Q-42 In the following questions two equations numbered I and II are given. You have to solve both the equations and-
eng

I 25x2-4=0
IL 25y +2=0

01. Ifx<y 02. Ifx>y



03. Ifx<y 04. Ifx>y

05. Ifx =y orrelationship cannot be established

o weat & wedres § &7 aefteor 1 11 2 13 ) T 1|1 e 1 g o)

L 25x%-4=0

L. 25y +2=0

01. Ifx<y 02. Ifx>y
03. Ifx<y 04. Ifx>y

05. f x =y AT Harer wqTIO 2T T 1T
HEAT

Solution for Question 42

eng

hi

Q-43

eng

x=+4 -4y=.16
x=+4 -4y=.16

In each of the following questions, two equations (i) and (ii) are given. You have to solve them and answer the question.

025 — (dx—A3)x+ 2013 =0 (1) 10p° —(18—3-/13110 +9-/13 =0

01. 02. ;
Ifx>y If =y

03. Ifx<y 04. Ifx<y

0s. [[f x=y or relationship cannot be established
Frrferfera wert & 7 ST (1) i (1) f23 T3 8 T o107 gt hiforT o $o77 o 3T aIoru-

() 227 — @x—f13)x+ 24013 =0 (1) 1020 —(18—35-/1301 4913 =0

0L o 02. 7 xoy

0B, o ey 4 o
05 2Ry xey o1 TEawy TUTRIE 8T AT o G

Solution for Question 43

eng

Q-44

eng

x=v13/2,2 y=v13/2,1.8

x=y
x=V13/2,2 y=\13/2,1.8

X<y

In the following questions two equations I and II are given. You have to solve both the equations and give answer.

@ xZ - 13x+40=0 (D y>—10y+21=0
01. Ifx>y 02. Ifx>y
03. Ifx<y 04. Ifxgy
05. Ifx =y or the relationship cannot be

determined.

Frrforfer weat & &7 6T 137 11 70 70 €)1 27 341 GHa0n &l g F HHTar ST &I

M x> —13x+40=0 D y2—10y +21=0
01. =fxx>y 02. 7fXx>y
03. FfErx<y 04. wfrx<y
05. 7f x =y o7 Hater TATIGT @l 6T ST

HFAT

Solution for Question 44

eng

hi

x=5,8 R y=3,7
x=5,8 s y=3,7



Q-45

eng

In the following questions two equations I and II are given. You have to solve both the equations and give answer.

@ x2-3x-460=0 D y?-5y—500=0
01. Ifx>y 02. Ifoy
03. Ifx<y 04. Ifxfy
05. Ifx =1y or the relationship cannot be

determined.

fAferfed wert & a7 aefiaeor 1 =i 11 2T 0 ) =9 1 S 7 g # MEE 397 )

(M) x>-3x-460=0 N y2-5y—500=0
01. qﬁx>y 02. ?T%ny
03 qﬁx<y 04. Zl'%xSy
05. =g x =y I7 Faer w70 ALY FFaT <11

LEXII

Solution for Question 45

eng

hi

x=23,-20 , y=-20,25
x=23,-20 , y=-20,25

Passage for Question 46, 47, 48, 49, 50 (ST-14 CWEPO (121-125) 2014)
eng Passage

Study the following table and answer the following questions carefully.

Following table shows the percentage population of six states below poverty line and the proportion of male and female.
Percentage population Proportion of male and female
State below poverty line Below poverty line| _ Above poverty ling

A 12 32 4:3
B 15 57 34
c 25 4:5 23
D 26 1:2 5:6
E 10 6:5 32
F 32 2:3 4:5

hi Passage

feferfd ameoft it eamga stegae Ffore sie wet 3 39w Ay

FOTy AT AT § & TISAT H ST AT @ H A T aTel RN a0l STAerd STeeaT siY TR ST Tigarsti H7 qard

. R Yo 9 A Ty v Af¥er a1 o
T AT IR e T Y B A R &1 3 W
A 12 3:2 4:3
B 15 57 34
c 25 4:5 2:3
D 26 1:2 5:6
E 10 6:5 3:2
F 32 2:3 4:5
Q-46 If the total population of males below poverty line in state B is 500 then what is the total population of that state?
eng
01. 7500 02. 8500
03. 7800 04. 8000
05. None of these
Q-46 =< TTsT B TET @ & 1 T2 Aol TRUT a0l §&AT 500 8 qT T5F T el STAEeAT fhaei g2

eng

01. 7500 02. 8500
03. 7800 04. 8000
05. Zit i s
Solution for Question 46
: 500x12x100
Total population = —————=——=28000

5«15




B . 500%x12x100 _

fol STTHET

> - 5x15 ue

Q-47 If the total population of C and D together is 18000, then what is the total number of females below poverty line in the above states?
eng

01. 4800 02. 4600
03. 4200 04. Cannot be determined

05. None of these
Q-47  F[ETST C T D AT H{A TAEEAT 18000 2 AT Ieal TsTT 6 TLET T@T & = T ATAT HIgeATsH i HEAT haet &2
hi

01. 4800 02. 4600
03. 4200 04. T L FT THA
05. =% ¥ AT T

Solution for Question 47

eng Cannot be determined

hi T Al FY TFHA

Q-48 If the population of males below poverty line in state A is 3000 and that is state E is 6000 then what is the ratio of the total population of state A and E?
eng

01. 23 02. 34
03. 57 04. 25:66

05. None of these
Q-48 T[T TrsT A H T T@T & = T ATl TRUT T ST 3000 & ¥ T EH 6000 & T T A 37T E Fi¥ T SIEEAT % a1 SIq1d F47 82

01. 23 02. 34
03. 57 04. 25:66
05. =H T FIE A1
Solution for Question 48
eng P lat T 3000%x5x100
opulation of state A= 73”(12
P lati £ state B = 6000x100x11
opulation of state _71(%(6
Ratio = 25.66
hi . 3000x5x100
T AD OHEEIT = —————————
3x12
: 6000 x100x11
ITB B 9HEET = ————————
10x6

ST = 25:66

Q-49 If in state E population of females above poverty line is 19800 then what is the population of males below poverty line in that state?
eng

01. 5000 02. 2500
03. 6000 04. 2800

05. None of these
Q-49  =f3 757 E H Y YT & T T arelt Afgerst i wear 19800 g v Y 157 % W 3@t & A vE arer TEut i g At g2

01. 5000 02. 2500
03. 6000 04. 2800
05. =i & 7€

Solution for Question 49

19800x5x100

eng Population of state E = 2590

=55000

10 6
= 55000% %
Number of males T



= 3000

hi . 19800x5%x100
T EF ST = —————————

2%90

=55000
10 6
qoost FY <@AT = 55000 x ——— x -
@1 e *700 11

= 3000

Q-50 If the total population of state A is 3000 then what is the approximate number of females above poverty line in state A?
eng

01. 1150 02. 1130
03. 1250 04. 1145
05. 1190

Q-50  =fTTrsT A FT HF THEEAT 3000 & AT IST A F TSN T@T H FAL T ATAT HIGATH 20T T FEAT et 82

01. 1150 02. 1130
03. 1250 04. 1145
05. 1190

Solution for Question 50

eng Number of females above poverty line in
state A.

3000x88x3
100x7

hi g AT TR IWT ¥ W B a1l
afgeralt &1 Hean
3000x88x3
100x7

~ 1130

~ 1130

Q-51 A shopkeeper earns a profit of 5% even after giving a discount of 10% on the marked price of an item. If the purchase price of the article is Rs. 300, what
eng will be its marked value?

01. 375 02. 400
03. 350 04. 320
05. None of these
Q-51 UF THWER UF aq & Afohd o T 10% FT Fg I F TATT Y 5% FT AT ST F2am g| T 78 F1 HF o % 300 €, AT SHHT siford T 47
hi grmr?

01. 375 02. 400
03. 350 04. 320
05. = q F:E T2

Solution for Question 51

R 300% 2 _ 315
100
90% =315

315
100% =——x100
90

100% =

=350

=
Q-52 A, B and C invest their capital in the ratio of = - . After 8 months, A increases his capital by 25%. If at the end of the year, the total profit earned is
3

eng

| Ln

L | 2

Rs 5280, then what will be C's share in the profit?



01. 2450 02. 2250
03. 2050 04. 2350
05. None of these

3-52 ABe#TC 2 3 = S A 1 e AR e 2] § W A, A AT o 250 7 2 8 1 i, off e e
5280 % @, Eﬁ?—rrwﬁ‘ca?ri%w'rﬁrcm'@m‘?

01. 2450 02. 2250

03. 2050 04. 2350

05. =77 7L Ta|
Solution for Question 52
s 2

2
w84+ wxd: —><1”'
3 4 5

eng

L | k2
G\|l)i
o
3
—
[

—>85:36.75
65x+36x+ 75x =3280
176x=5280

x=30

[vo]
}
|
3
|
e
e
vk
kS
—
[ §=]
[+ ¥
—
[

Q-53 If 10 people can finish a work in 12 days by working 7 hours per day, then in how many days can 14 people finish the same work by working 6 hours per
eng day”

01. 12 02. 10
03. 15 04. 16

05. None of these
Q-53  =fx 10 =f~F wfafad 7 5 w187 w2 TF F18 &0 12 &A1 § G0 FT TG94 €, a6 61 B 1 14 ST TAfed 6 5 FHTH Fh ohae oAl § H
hi THTH FT T 52

01. 12 02. 10
03. 15 04. 16
05. = FFTE T2

Solution for Question 53
eng 1027x12=14=6xx
=x=10
hi 10x7x12=14x6xx
= x=10

Q-54 The ratio of two numbers is 3: 5. If eight is added to the first number and seven to the second number, the ratio becomes 2: 3. So what will be their ratio
eng when six are added to each?

01. 9:14 02. 7:9
03. 5.7 04. 5:9
05. None of these



Q-54 =T HEATS FT TG 3: 5 8| F(E Tgelt SeA1 | 03 o< gAY §eAT § A9 ST SATaT 2, q¥ ST 2: 3 87 S 8] 37a: o § Bz S S T AT
hi T FT ZRIT?

01. 9:14 02. 7:9
03. 5:7 04. 5:9
05. =T FHIE T2
Solution for Question 54
eng Ix+8 2
51‘+7_§
=0x+24=10x+14
=% =10
:’BXIOHS:E
5x10+6 5
= 9:14
hi Ix+8 2
51‘+7:§
= 0x+24=10x+14
==x =10
:,EXIOHS:E
5x10+6 5
= 09:14

Q-55 4 boys of school A and 6 boys of school B together can do an exhibition in 5 days, 5 boys of school A and 10 boys of school C
eng can do it together in 4 days or 3 boys of school B and 4 boys of school C can do it together in 10 days. How many boys of
school A can hold this exhibition in a day ?

01. 80 02. 60
03. 40 04. 20
05. None of these

Q-55 TA=Te T A% 4 =% T [A=mard B % 6 =% Mot UF T29H1 5 el # &0 @hd 2, Tat ¥ [Farad A F 5 9% i
hi =T C ¥ 10 7% 0o 4 Rt § 7 a7 £ a7 fremes B ¥ 3 92% o7 e C % 4 a=% e 10 &1 § #9567
&) =& weiT foremer A ¥ fra @=% v R d e a2 2
01. 80 02. 60

03. 40 04. 20
05. =% T FTE 7|

Solution for Question 55

eng (4A +6B) x 5=(5A +10C) x 4= (3B +4C) x 10
20A +30B =20A +40C
3B=4C
B:C=4:3
Similarly,
A:B=3:2
So,A:B:C=6:4:3

Hence , Number of boys of School A can hold the exhibition = M x5 =40 boys

hi (4A +6B)x 5=(5A +10C)x4=3B +4C) x 10
20A +30B =20A +40C
3B=4C
B:C=4:3
TH A,
A:B=3:2
A:B:C=6:4:3

o FaTerT A % Tt it TeT, ST U o # Tei= T o ' g = st =40
6

Q-56 Find the value of question mark (?) in the given missing number series.

eng
27, 50, 192, 1140, 9104, ?

01. 90400 02. 91020
03. 92040 04. 94060



05. 96080
R TE A AT GATR T &7 (2) FTATT AT FI{TWY

27, 50, 192, 1140, 9104, ?

01. 90400 02. 91020
03. 92040 04. 94060
05. 96080

Solution for Question 56

eng

Q-57

eng

eng

27x2-4=50
50x4-8=192
192 x 6 —-12=1140
1140 x 8§ — 16 =9104
9104 x 10 —20 =91020

27x2-4=50
50x4-8=192

192 x6—-12=1140
1140 x 8§ — 16 =9104
9104 x 10 —20 = 91020

Find the value of question mark (?) in the given missing number series.

4, 7, 13, 23, 38, 59, ?

01. 72 02. 80
03. 87 04. 95

05. None of these
R TEqA AT GATR T & (2) FTATT ATT FI{TWY

4, 7, 13, 23, 38, 59, ?

01. 72 02. 80
03. g7 04. 95
05. =% ¥ FIs TR
Solution for Question 57
4 7 13 23 38 59 ?
3 6 10 15 21
3 4 5 6
21 +7=28
28 +59 =87
4 7 13 23 38 59 ?
3 6 10 15 21
3 4 5 6
21 +7=28
28 +59 =187

Q-58

eng

Find the value of question mark (?) in the given missing number series.

2, 6, 33, 49, 174, 210, ?

01. 275 02. 387
03. 464 04. 553
05. 495

AT A AT GATR TF T (2) FTATT ATT HI{;TWY

2, 6, 33, 49, 174, 210, ?

01. 275 02. 387
03. 464 04. 553
05. 495

Solution for Question 58



eng

Q-59

eng

Q-59

hi

eng

1+ =2
2428 =6
6+3° =33
33+4° =49
49 +58 =174
174+ 67 =210
210477 =553
1+ =2
2+2°=56
6+3° =33
33+4° =49
4945 =174
174+ 67 =210
210477 =553

Find the value of question mark (?) in the given missing number series.

2, 12, 36, 80, 2, 252, 392

01. g0 02. 100

03. 120 04. 150

05. None of these

AT qATSAT L @ATH 77 e (2) FTHATT I17 FIHW

2, 12, 36, 80, ?, 252, 392

01. 80 02. 100
03. 120 04. 150
05. = A FIE AL
Solution for Question 59
Pat=n
22427 =12
3437 =36
41 4+47=80
31 +5° =150
6 +6° =252
7P +77 =392
Fall=2
22428 =12
3 +3=36
42 14 =80
24572150
61 +6° =252
7P +77 =392

Q-60

eng

Find the value of question mark (?) in the given missing number series.

6, 11, 32, 111, 464, ?

01. 2345 02. 2475
03. 2525 04. 3050
05. 2640

AT A AT GATR TF & (2) FTHTT ATT HI{9TN

6, 11, 32, 111, 464, ?



01. 2345 02. 2475
03. 2525 04. 3050
05. 2640

Solution for Question 60

eng

Q-61

eng

6x1+5=11
11x2+10=32
32x3+15=111
111 x4+ 20 =464
464 x 5+ 25 =2345

6x1+5=11

11 x2+10=32
32x3+15=111
111 x4+ 20 =464
464 x 5+ 25 =2345

What approximate value should come in place of question mark (?) in the following equations.

J5475-408="7

01. 11 02. 15
03. 20 04. 24
05. 27

Frarforfaa adfiwTo § wsrar=ra e (2) F 979 T FAT ATATNT q79 a7 A7)

5475 +408="7

01. 11 02. 15
03. 20 04. 24
05. 27

Solution for Question 61

eng

hi

Q-62

eng

74+5=2°
? =15 (approx.)

74+5=7

? = 15 (AATT)

What approximate value should come in place of question mark (?) in the following equations.

118.07 x 13.49 + 169.8% of 784 =7

01. 2520 02. 2610
03. 2750 04. 2860
05. 2930

fraforfg aeiweot & waar=s e (2) F #ara TF AT AATNT A7 AT AR

118.07 x 13.49 + 169.8% of 784 = ?

01. 2520 02. 2610
03. 2750 04. 2860
05. 2930

Solution for Question 62

eng

Q-63

118 x 13+ 170 % x 784 =?
?=1534+ 1323

?=2857

? =2860 (approx.)

118 x 13+ 170 % % 784 =?
?=1534+1323
?=2857

2 = 2860 (STATH)

What approximate value should come in place of question mark (?) in the following equations.



eng

43.03 x27.96 +11.98 x 3fy3g7g =?

01. 1625 02. 1705
03. 1775 04. 1815
0S. 1855

fReferfea aeior & wraras e (2) F #0002 F#97 SAGATEd 719 SJE1 ATieu)

43.03 x27.96 +11.98 x {13979 =?

01. 1625 02. 1705
03. 1775 04. 1815
05. 1855

Solution for Question 63

eng

Q-64

eng

Q-64

hi

43 x 28 +12 x35=2?
1204 +420="?
?7=1624

? =1625(approx.)

43 x 28+ 12 x35="7

1204 + 420 = ?
?=1624
? = 1625(ITATHA)

What approximate value should come in place of question mark (?) in the following equations.

{(8.66)2 x 13.98} +7="2

01. 120 02. 130
03. 140 04. 150
05. 160

frafrfa gerFTon # wyaras feT (2) F e e FATAgATHT AT wAv ARV

{(8.66)2 x 13.98} +7="2

01. 120 02. 130
03. 140 04. 150
05. 160

Solution for Question 64

eng

hi

Q-65

eng

N 9x9x14

=160
N 9x9x14

=160

What approximate value should come in place of question mark (?) in the following equations.

185% of 1359 + 18.5% of 1319 =7

01. 2510 02. 2630
03. 2760 04. 2890
05. 3025

frerferfea aetaTod § saar=s e (2) F 1T TTFATALATNT A1 A7 AR

1359 =T 185% + 1319 &1 18.5% =?

01. 2510 02. 2630
03. 2760 04. 2890
05. 3025

Solution for Question 65



eng 2516 +244 =72
?2=2760

hi 2516 +244 =7
?=2760

Q-66 The ratio of speed of two railway locomotives is 5: 4. If they run on parallel tracks in one direction and initially the low speed engine was 8 km ahead of the

eng high speed engine, how much distance will the fast moving engine have to travel to overtake the low speed engine?
01. 48 02. 36
03. 40 04. 32

05. None of these
Q-66 =T IAT THAAL T ATA HT AUTT 5: 4 8| TTE T T TT H FHIRAL T I¥ T4 & ¥ SAEFT H FH =T ATeAT S5 T AT ATl 391 & 8 et
hi ST AT, AT AT AT ATl S T HH ATA AT 397 & A1 e & forg fraet g2 o et a=°i?

01. 48 02. 36
03. 40 04. 32

05,z & FrE A2

Solution for Question 66

eng Sx—4x=x
8/1=38
8 x5=40

hi S5x —4x=Xx
8/1=8
8 x5=40

Q-67 The monthly salary of a person was Rs 50000. He used to spend it on three items - personal and family expenses (E), taxes (T), philanthropy (P), and the

eng rest was his savings. E was 50% of his income. T was 20% of E and P was 15% of T. When his salary increased by 40%, he did not change the
percentage of E, but T became 30% of E and P became 20% of T. How many percent more or less their new savings than the previous savings? (Answer
must be correct to one decimal place.)

01. 8.2% more 02. 16.4% more
03. 8.2% less 04. 16.4% less

05. None of these
Q-67 T ATk FT /I aa4 % 50000 =T T ZHHT A HET TL AT FIAT AT — AR ST TATE AT (E), FT(T), TTHT (P), 3T AT Il

hi T gt 2| E 3T T &1 50% AT| T, E FT 20% T 37T P, T T 15% =IT| 5T 38 aa+ & 40% FT I g2, A7 399 E F ATaerd § il qad dgr
T, stfshe T, E T 30% &1 3737 37T P, T &1 20% &1 47| It 4 = fOzelt s=a it qomt # fraw sfaera stferes am w9 82 (39 39w % U
AT TF el [T A1)
01. 8.2% wrfars 02. 16.4% sTfer®
03. 8.2% *H 04. 16.4% w9
05. =7 F 7S 72|
Solution for Question 67
eng 50000
E T P S
25000 5000 750 19250
70000
E T P S
35000 10300 2100 22400
Required % = 1391:% =100 = 16.4% MOTe.
hi 50000
E T P S
25000 5000 750 19250

TOHWY



E T P S

35000 10500 2100 22400
T % =310 100+ 16 40, STTEIEh,
19230
Q-68 A person has to travel 30 km. If he has covered the distance of:‘: of the journey in 3 hours and 20 minutes, then what is his speed in km / h?
eng ]

01. 63 02. 6
03. 54 04. 75
05. None of these

3-68 e =R AT 30 Fret £ AT w3 A g £ T 7 3 3 52 3T 20 T F oy e 2, v ey =rer Bfeer # v 8
1

01. 6.3 02. 6
03. 54 04. 75

05. zeriy &S

Solution for Question 68

eng

Q-69 The average run rate of a cricket team during the first 20 overs is 4.5. If it has to score a total of 282 runs in a match, what should be per over run rate for
eng the next 30 overs?

01. 6.0 02. 6.3
03. 68 04. 6.4

05. None of these
Q-69  TE 20 G F AT UF Thahe €9 7 S 6d W 12 4.5 | T2 =7 8= 5 § {1 282 T a9 21, AT 30Tl 30 @ & for Wi Siraw I e 77
hi T ATRT?

01. 6.0 02. 6.3
03. 6.8 04. 6.4

05,z & A 72

Solution for Question 69

eng 20x4.5+30xx=282
90 + 30x =282
30x =192
x=64

hi 20 x 4.5 +30 x x =282
90 +30x =282
30x =192
x=64

Q-70 At what percentage rate will the amount of Rs 40000 become Rs 44100 in two years where the interest is compounded annually?
eng

01. 2 02. 5
03. 4 04. 75



05. None of these
Q-70 40000 % ¥ eeTer e Tfcrerd 2% 9% &7 a9t § 44100 % &7 STUSAT STt 4TS AU &9 F AFHd T hAT a1 82

01. 2 02. 5
03. 4 04. 75
05. =¥ FAIE T
Solution for Question 70
eng 44100 JJ;L\'
40000 ! 100
21 100+~
20 100
105=100+~
¥ =5%
- B0 (), -
40000 ! 100
21 100+~
20 100
105=100+~
¥ =5%
Q-71 If' 5 women or 10 men can complete a piece of work in 55 days, in how many days will 5 women and 4 men working together complete the same work?
eng
01. 45 02. 48
03. 35 04. 40

05. None of these
Q-71  =fw 5 ARZETE AT 10 T2 56 oA § TH HTH T FHT T 8, AT S AEATY 1T 4 THT TF a1 IHT FIH [ Fohae (oAl § QT HT T 82
hi

01. 45 02. 48
03. 35 04. 40

05. g & 7S Y

Solution for Question 71

eng SW=10M
2M=1W
SW+4M=7TW
Now,
5x56=7xD
D =40

hi SW=10M
2M=1W
SW+4M=7TW
3d,
5x56=7xD
D =40

Q-72 The internal surface area of a hollow hemisphere is 77 cm? and its external surface area is 308 cmz, what is the thickness of the hollow hemisphere?
eng

01. 25¢cm. 02. 35cm.
03. 2cm. 04. 3cm.

05. None of these
Q-72 uF @A MATE FT Aq=d: TF &FA 77 THY.2 T THHT AT TY &% 308 .2 §, @rae Ml 1 JleTs #4782

01. 2.5 3. 02. 3.5,
03. 2 9. 04. 33+,
05. =% 1S TE

Solution for Question 72



eng

Q-73

eng

Q-73
hi

2me? =77

r=3.5

2mR% =308

R=7

Thickness of hollow hemisphere =7 —3.5 =3.5 cm.

2 =77
r=3.5

21R? =308

R=7
WIS AT, ohl JIETS = 7 — 3.5 = 3.5 THT.

Tripti found that she had made a loss of 10% while selling her smartphone. She also found that had she sold it for Rs.75 more, she would have made a
profit of 5%. What is the marked price of smartphone when Tripti gives a discount of 25% and sold the smartphone for a 5% profit?

01. Rs. 500 02. Rs. 525
03. Rs. 450 04. Rs. 600

05. None of these
O 7 qTAT o6 S SATAT TATEHIT ST THT 10% AT T g3 | 39+ T A1 7T B 72 a8 38 50 %, A8 7 a=t a1 g 5% T AT T Fa T |
TATERI T Siford T 9T §, STF THTEHA T JIH 25% FT G2 I & ST THTEHIT HT 5% AT T =7 ST &2

01. Rs. 500 02. Rs. 525
03. Rs. 450 04. Rs. 600
05. =% T FIE 7T

Solution for Question 73

eng

Q-74

eng

Q-74

(5 +10) % of CP =Rs.75
CP = Rs.500
SP =Rs. 525

MP = 222, 100 =Rs. 700

I M T (5 + 10) % = Rs.75
3T e = Rs.500
forshar 9 = Rs. 525

iR 79 = 222 1100 =%, 700

In an examination, a student who gets 20% of the maximum marks fails by 15 marks. Another student who scores 30% of the maximum marks gets 32
marks more than the pass marks. The necessary marks required for passing is

01. 107 02. 108
03. 109 04. 111

05. None of these
T TEEAT H, TF I ST SATTHAH ST HT 20% TTH FIAT &, T 15 3T T ST 21 ST g| T (T BT, ST ATAFAT 3ih1 7 30% FHh1T FHear
&, IH ITAT9T 37T 7 32 375 srfers e €1 St g & forg sraeds wfaerd &% 8

01. 107 02. 108
03. 109 04. 111
05. =z & A T

Solution for Question 74

eng

According to the question,
20% + 15 =30% — 32

10% =32+ 15=47

100% =470

Passing marks = 141 — 32 =109



hi ST,
20% + 15 =30% — 32
10% =32+ 15=47
100% = 470
Ieftof &feh = 141 - 32 = 109

Q-75

The difference between compound interest compounded every 6 months and simple interest on a certain sum after 11 years is Rs. 122. The rate of
eng =

interest is 10 p.c.p.a. Find the compound interest on the same sum at the end of given time if the rate of interest is compounded 10% semi-annually.

01. Rs.2596 02. Rs.5269
03. Rs.2569 04. Rs.5296
05. None of these

3'75 u Ao eeefar o 1% U FTT FHTST HATIIT Z1 AT FAohefog sTTT ST FTLTIT SATS o = &7 3d< . 122 7 | 3971 it 7T 10 Fiera
HTFQ%F%I%QWW%W&WT@WWWWW?&WE&ETlo%aﬁ-aﬁﬁl

01. %259 02. %5269
03. %2569 04. %5296
05. i & 8
Solution for Question 75
en Py 3
s p=122x 100 100
"5 ) {300+5)
P =Rs. 16000
Required C.I = 16000 x| 1+ 20 | _
| 100) |
— 16000 | [ 1] _;
L10)
= 16000 x 2L =Rs. 5296
1000
hi 1005 7 5
p=122x 1007 100
"5 ) {30045
P=%. 16000
31¥fte wTsRafg oSt = 16ooox|' lL%u o
—16000x || 1] _;
L10)
131 B

=16000 x
1000

Passage for Question 76, 77, 78, 79, 80 (ST-05SBIBCLPRE(31-35M)2020)
eng Passage

Study the following line chart carefully and answer the questions given below.

The line graph represents the total number of passengers booked their tickets and passengers travelled for different locations from city Mumbai.
Total number of passengers booked their tickets and passengers travelled

—g—Total Passengers booked their tickets
-Total passengers travelled

6000 A
4800 ‘_\,—"" R
3000 4320 -t ~ 5589

L

4200

4000 & e
4104 4176

3000 3822

2000
1000




shimila Manah Jd &K Qoty kerala

hi Passage
fafafaa arsT 91 F1 Mg TegTq A AT A FeTTT At F 3R

AT AT 92X Has & fafere vt % forw artEat it g @ Rregiv o fewe 3% B sie I e arer ari=a it d@edr gear g |
T ATEAT AT HeAT oIl o feae g o6 sfT T e arer JTieat & e 5er
——FA T T2t T e awm fed o T s I At
7000

6210

6000 A

4800 ,..f"'/ AN
5000 4320 o SEBN N
m— -~ h"
4000 i
4104 4176

3000 .
2000 2755

1000

0

FrmeT AT H&F =3t Fer

Q-76 How many passengers from the given five locations had not travelled?

eng
01. 2709 02. 3109
03. 2559 04. 2809
05. 2909

Q-76  TRU T g TATHT § | fohae ATCAT o ATAT Tl 12

hi
01. 2709 02. 3109
03. 2559 04. 2809
05. 2909

Solution for Question 76

eng Required total number =421 + 624 + 621 + 870 + 378 = 2709

hi I (A F&AT = 421 + 624 + 621 + 870 + 378 = 2709

Q-77 80% and 75% of the passengers who travelled to Ooty and Manali respectively are government employees. If 25% of the passengers out of government

eng employees who travelled to both locations are officers then find the difference between the number of passengers who are officers and travelled to Manali
and Ooty.
01. 272 02. 217
03. 232 04. 237
05. 122

Q-77  80% 3T 75% AT TSl HHET: Tt ST AATSN il ATAT T, F LR FHATL g1 AT AT ST T ATAT FIA AT LRI FHATRAT H & 25%
hi AT ST & AT TR FHATAT § & I AT 1 6&AT § Siaq¥ T ForT ST ATAHTT 3 37T AATAT 3T ot i ATAT FA & |

01. 272 02. 217
03. 232 04. 237
05. 122

Solution for Question 77

eng

Difference :1X3X41;6_ ”
171

—
Lh | 4=

4
=783 - 551 =232



a*a(:lxix;ll.'-ﬁ— ¥
44

|

=783 —551 =232

Q-78 The total number of passengers who did not travelled to Shimla is approximately what percentage of the total number of passengers who did not travelled
eng toJ & K?

01. 39% 02. 44%
03. 32% 04. 35%
05. 28%

Q-78 S ATHHAT 6T FHo FeAT fSregie TOHaAT T ATAT Tl 1 3T ATCAT T T HEAT TSl Sf & o 1 ATAT Al Al 1 AT Tohaed Traerd g2

01. 39% 02. 44%
03. 32% 04. 35%
05. 28%

Solution for Question 78

eng Required % =£ X100 = 34.78% = 35%

anfim % =216 100 =34.78% = 35%

621

Q-79 The bookings of st of total number of passengers of the given five locations had been cancelled. Find the number of passengers whose bookings was
eng 55

cancelled.

01. 1678 02. 1684

03. 1648 04. 1638

05. 1628

3-79 Form Ty iy TRt 3 e At A 2 Ay i v A ofn 5 e A e s ¢ fwe i w7 A o

01. 1678 02. 1684
03. 1648 04. 1638
05. 1628

Solution for Question 79

eng

| =

Required number = _ x (4320 + 4800 + 6210 + 3625 + 4200)

Lt

=3 x(23155)

— L

684

| s

B snfledEar = 2 x (4320 + 4800 + 6210 + 3625 + 4200)

LA

.|_1;.

O\ La

x (23155)
1

84

Q-80 For which location, the percentage of the number of passengers who did not travelled is second lowest?

eng
01. Shimla 02. Manali
03. J&K 04. Ooty
05. Kerala

Q-80 e = % form, AT A€ e AT AT T HEAT H7 T THT Ja9 77 82
hi

01. foraeT 02. HETAT



03. §&%F 04. &
05. FTT




